
MATHS

BOOKS - RD SHARMA MATHS (HINGLISH)

ALGEBRAIC EXPRESSIONS AND IDENTITIES

Others

1. We know that the perimeter 
 of a square of side s is given by 


find the constant and variable part

Watch Video Solution

P

 P = 4  ×  s.

2. The perimeter p of a rectangle of sides 
 is given by 


evaluate the variable and constant part

l and b

P = 2 (l + b).

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_g4VWXHN7vTH7
https://dl.doubtnut.com/l/_uapx5CVnvK9A


Watch Video Solution

3.  is an algebric expression.
find the terms of the

expression

Watch Video Solution

2x2 − 3xy + 5y2

4. The expression 
 is an algebraic

expression.find the terms of the expression

Watch Video Solution

2x3 − 3x2 + 4x − 7

5.  etc. are all monomials.

Watch Video Solution

−5,  3y, 7xy, x2 yz,   a2bc32

3

5

3

https://dl.doubtnut.com/l/_uapx5CVnvK9A
https://dl.doubtnut.com/l/_2Dwaex8TjpLm
https://dl.doubtnut.com/l/_9FB90WbRI9Dp
https://dl.doubtnut.com/l/_XDS5N3cyJhZS


6. The expressions 
 etc. are all

binomials.
 Note that 
 is not a binomial, because 


which is a monomial.

Watch Video Solution

2x − 3,   3x + 2y,   xyz − 5

3x + 7x

3x + 7x = 10x,

7. The expressions 

etc. are trinomials.

Watch Video Solution

a − b + 2x2 + y2 − xy,  x3 − 2y3 − 3x2 y2z

8. True/False: In 
the coefficient of x is 
the coefficient

of 
is 
and the coefficient of .

Watch Video Solution

−5xy, −5y :

y −5x xy is − 5

https://dl.doubtnut.com/l/_l1qLTPhSrfrp
https://dl.doubtnut.com/l/_TPbeuOYflDxD
https://dl.doubtnut.com/l/_znIl0XlngTn1


9. In 
the coefficient of 
is -1.

Watch Video Solution

x, x

10. In 
the coefficient of 
is 
the coefficient of 
 is 

and the coefficient of 
is 

Watch Video Solution

3a2bc, a2  3bc, b 3a2c

c 3a2b.

11. In the algebraic expression 
 the constant

term is 

Watch Video Solution

x2 − xy + yz − 4,

−4

12. In the algebraic expression 
we have 


 and 
 as like terms, whereas 
 are unlike

2a2b + 3ab2 − 7ab − 4ba2,

2 a2b −4ba2 3ab2and 7ab

https://dl.doubtnut.com/l/_vlwMRSmgdUTr
https://dl.doubtnut.com/l/_aXMdlnNKfxgf
https://dl.doubtnut.com/l/_e1jNLjetnX1L
https://dl.doubtnut.com/l/_HCcsHn1YMVmV


terms.

Watch Video Solution

13. Identify the terms, their coefficients for each
 of the following

expressions:
 
(ii) 

Watch Video Solution

7x2yz − 5xy x2 + x + 1

14. Identify the terms, their coefficients for each
 of the following

expressions:
 
(ii) 

Watch Video Solution

3x2y2 − 5x2y2z2 + z2 9 − ab + bc − ca

15. Identify the terms, their coefficients for each
 of the following

expressions:
 
(ii) 

W t h Vid S l ti

+ − ab
a

2

b

2
0. 2x − 0. 3xy + 0. 5y

https://dl.doubtnut.com/l/_HCcsHn1YMVmV
https://dl.doubtnut.com/l/_tPmbcJat130V
https://dl.doubtnut.com/l/_pJHJUhyX7DDb
https://dl.doubtnut.com/l/_CqorcFUC85Po


Watch Video Solution

16. Classify the following polynomials as
 monomials, binomials,

trinomials. Which polynomials do not fit in any
 category?
(i)

(ii) 1000 (iii) 

Watch Video Solution

x + y

x + x2 + x3 + x4

17. Classify the following polynomials as
 monomials, binomials,

trinomials. Which polynomials do not fit in any
 category?


(ii) 
(iii) 

Watch Video Solution

7 + a + 5b 2b − 3b2 2y − 3y2 + 4y3

18. Classify the following polynomials as
 monomials, binomials,

trinomials. Which polynomials do not fit in any
 category?


(ii) 
5x − 4y + 3x 4a − 15a2 xy + yz + zt + tx

https://dl.doubtnut.com/l/_CqorcFUC85Po
https://dl.doubtnut.com/l/_trO9NmhjUQBw
https://dl.doubtnut.com/l/_XVeuyHLM14YP
https://dl.doubtnut.com/l/_RilVNkgpPKhs


Watch Video Solution

19. Classify the following polynomials as
 monomials, binomials,

trinomials. Which polynomials do not fit in any
category?
(i) 
 (ii) 


(iii) 

Watch Video Solution

pqr

p2q + pq2 2p + 2q

20. Add ; 

Watch Video Solution

7x2 − 4x + 5,   − 3x2 + 2x − 1 and 5x2 − x + 9.

21. Add :

Watch Video Solution

5x2 − x + , − x2 + x − and − 2x2 + x − .
1

3

5

2

1

2

1

2

1

3

1

5

1

6

https://dl.doubtnut.com/l/_RilVNkgpPKhs
https://dl.doubtnut.com/l/_MOLfV7RzoMOB
https://dl.doubtnut.com/l/_O2Uk601OV8ux
https://dl.doubtnut.com/l/_xCZAkv3VrPvs


22. Add the following algebraic expressions:

Watch Video Solution

2, − + , − + − , + 3y2 + 3y +
2y

3

5y2

3

5y3

2

4

3

2y2

3

y

2

5y3

3

6

5

23. Subtract : from

Watch Video Solution

( − 2y2 + y − 3)
1

2
7y2 − 2y + 10.

24. Subtract : 
 from 

Watch Video Solution

x2y + y − x2yz
3

2

4

5

1

3

  x2yz − xyz + x2y.
12

5

3

5

2

3

25. Take away 
from

W h Vid S l i

+ + x2 + x3  
9

2

x

2

3

5

7

4
   − − .

7

2

x

3

x2

5

https://dl.doubtnut.com/l/_1KsLZADLYTjc
https://dl.doubtnut.com/l/_VRkrXiOPu4I7
https://dl.doubtnut.com/l/_fajmazsvods9
https://dl.doubtnut.com/l/_pIzc8KcqIDR4


Watch Video Solution

26. Add the algebraic expressions: 

Watch Video Solution

3a2b, − 4a2b, 9a2b

27. Add the algebraic expressions: 

Watch Video Solution

a, a, − a
2

3

3

5

6

5

28. Add the algebraic expressions:

Watch Video Solution

4xy2 − 7x2y,  12x2y − 6xy2,   − 3x2y + 5xy2

https://dl.doubtnut.com/l/_pIzc8KcqIDR4
https://dl.doubtnut.com/l/_k9bfCa99qTq3
https://dl.doubtnut.com/l/_RhQOcpTqle6s
https://dl.doubtnut.com/l/_dyj1vRWql6b0


29. Add the algebraic expressions:

Watch Video Solution

a − b + c, a − b + c, a + b − c
3

2

5

4

2

5

2

3

7

2

7

2

5

3

5

2

5

4

30. Add the algebraic expressions:

Watch Video Solution

xy + y + x,   − y − x − 13 xy
11

2

12

5

13

7

11

2

12

5

31. Add the algebraic expressions:

Watch Video Solution

x3 − x2 + , x3 + x2 − x + , x2 − x − 2
7

2

1

2

5

3

3

2

7

4

1

3

3

2

5

2

32. Subtract:  from −5xy 12xy

https://dl.doubtnut.com/l/_80WWw4JhuAhE
https://dl.doubtnut.com/l/_XIWkb2WEYD0B
https://dl.doubtnut.com/l/_dKZiNGNHKAV5
https://dl.doubtnut.com/l/_df7ZEfFHKTTC


Watch Video Solution

33. Subtract:
 from

Watch Video Solution

2a2 −7a2

34. Subtract:
  from 

Watch Video Solution

2a − b 3a − 5b

35. Subtract:
   from 

Watch Video Solution

2x3 − 4x2 + 3x + 5 4x3 + x2 + x + 6

36. Subtract:


W t h Vid S l ti

x − y − z om x + y − z
3

2

5

4

7

2

2

3

3

2

4

3

https://dl.doubtnut.com/l/_df7ZEfFHKTTC
https://dl.doubtnut.com/l/_gxiCBbAQ3oRC
https://dl.doubtnut.com/l/_z7NI0I9SguV5
https://dl.doubtnut.com/l/_lsfvr4JC3G9U
https://dl.doubtnut.com/l/_KoDBuS6fQckN


Watch Video Solution

37. Subtract:
 


Watch Video Solution

x2y − xy2 + xy om x2y + xy2 − xy
4

5

4

3

2

3

3

2

1

3

38. Subtract:


Watch Video Solution

− bc + ac om bc − ac
ab

7

35

3

6

5

3

5

4

5

39. Take away :  from 




Watch Video Solution

x2 − x3 + + x
6

5

4

5

5

6

3

2

− x2 + x +
x3

3

5

2

3

5

1

4

40. Take away : 
+ + −  om a3 − a2 −
5a2

2

3a3

2

a

3

6

5

1

3

3

4

5

2

https://dl.doubtnut.com/l/_KoDBuS6fQckN
https://dl.doubtnut.com/l/_gpoRicaOA1JW
https://dl.doubtnut.com/l/_8S3IyceS4rFh
https://dl.doubtnut.com/l/_hU1fd6oRbZcL
https://dl.doubtnut.com/l/_oyHcqARtdS66


Watch Video Solution

41. Take away : 


Watch Video Solution

x3 + x2 + x +  om − −
7

4

3

5

1

2

9

2

7

2

x

3

x2

5

42. Take away : 


Watch Video Solution

+ y2 + y +  om − y2y3

3

7

3

1

2

1

2

1

3

5

3

43. Take away : 


Watch Video Solution

+ ac − ab + bc om ab − ac − bc
2

3

5

7

2

3

3

2

7

4

5

6

44. Subtract 
 from the sum of 




3x − 4y − 7z

x − 3y + 2z and − 4x + 9y − 11z.

https://dl.doubtnut.com/l/_oyHcqARtdS66
https://dl.doubtnut.com/l/_XtfARuOOKZC5
https://dl.doubtnut.com/l/_kyISglcMvFNe
https://dl.doubtnut.com/l/_Obg5QFcWAffY
https://dl.doubtnut.com/l/_OS2DhCdHGHbk


Watch Video Solution

45. Subtract the sum of 
 from

the sum of 
and 


Watch Video Solution

3l − 4m − 7n2and 2l + 3m − 4n2

9l + 2m − 3n2 −3l + m + 4n2.

46. Subtract the sum of 

Watch Video Solution

2x − x2 + 5 and − 4x − 3 + 7x2
om5

47. Simplify: 

Watch Video Solution

x2 − 3x + 5 − (3x2 − 5x + 7)
1

2

https://dl.doubtnut.com/l/_OS2DhCdHGHbk
https://dl.doubtnut.com/l/_xacpJvNcksy2
https://dl.doubtnut.com/l/_myHmUYGT7F66
https://dl.doubtnut.com/l/_XShGK8XBmgmg


48. Simplify: 





Watch Video Solution

[5 − 3x + 2y − (2x − y)] − (3x − 7y + 9)

Giventˆ

49. Simplify:


Watch Video Solution

x2y − xy2 + xy − y2x + yx2 + xy
11

2

9

4

1

4

1

14

1

15

1

2

50. Simplify:




Watch Video Solution

( y2 − y + 11) − ( y − 3 + 2y2) − ( y − y2 + 2)
1

3

4

7

1

7

2

7

2

3

51. Simplify:

− a2b2c + ab2c − abc2 − cb2a2 + cb2a − c2ab + ca2b.
1

2

1

3

1

4

1

5

1

6

1

7

1

8

https://dl.doubtnut.com/l/_RrvvJItn28g9
https://dl.doubtnut.com/l/_FiHsKgTUqZH6
https://dl.doubtnut.com/l/_UXptU7rveEeJ
https://dl.doubtnut.com/l/_0HHIwA2ZzIH8


Watch Video Solution

52. Find the product of the following pairs of
polynomials: 
(ii)


(iii) 
 
(v) 


Watch Video Solution

4,  7x

−4a,  7a 4x,  7xy 4x3, − 3xy 4x, 0

53. Find the areas of rectangles with the following
 pairs of

monomials as their length and breadth respectively: 
 (ii) (10,

5y) (iii) 
 
(v) 

Watch Video Solution

(x, y)

(2x2,  5y2) (4a,  3a2) (3mn,  4np)

54. Multiply : 
(ii) 


Watch Video Solution

3ab2c3by 5a3b2c 4x2yz by − x2yz23

2

https://dl.doubtnut.com/l/_0HHIwA2ZzIH8
https://dl.doubtnut.com/l/_MPiKsfck0f40
https://dl.doubtnut.com/l/_mMQa8JCke9JS
https://dl.doubtnut.com/l/_KMyyMQwNxSPP


55. Multiply : 
(ii) 


Watch Video Solution

− x2yz3by − xy2z
8

5

3

4
x2yby x4y

3

14

7

2

56. Find the volume of the rectangular boxes with
following length,

breadth and height:
 Length Breadth Height


 


Watch Video Solution

2ax                          3by                                        5cz m2n n2p

57. Multiply: 
(ii) 


Watch Video Solution

−6a2bc, 2a2b and −
1

4
a5b2,  10a3b and 6

4

9

58. Multiply: 
(ii) 

Watch Video Solution

3, 15x and − 23x2y x, x2yz and − xyz23

7

https://dl.doubtnut.com/l/_oLkwSUecewbU
https://dl.doubtnut.com/l/_sxcYiFVbe7J1
https://dl.doubtnut.com/l/_29CWScI3Hpf1
https://dl.doubtnut.com/l/_uq347496MpQ1


Watch Video Solution

59. Find each of the following products:


 (ii) 

Watch Video Solution

( − 2x2) × (7a2x7) × (6a5x5)

(4s2t) × (3s3t3) × (2st4) × ( − 2)

60. Multiply each of the monomial : 

Watch Video Solution

3xyz, 5x, 0

61. Multiply each of the monomial : 

Watch Video Solution

ab, bc, abc
6

5

5

6

12

9

https://dl.doubtnut.com/l/_uq347496MpQ1
https://dl.doubtnut.com/l/_ibBpbETEp4Lc
https://dl.doubtnut.com/l/_20SynRGCmp09
https://dl.doubtnut.com/l/_uTsTWKhBRGMX


62. Multiply each of the monomial :

Watch Video Solution

x2yz2,  0. 5xy2z2,  1. 16x2yz3,  2xyz
3

4

63. Multiply each of the monomial :


Watch Video Solution

20x10y20z30,  (10xyz)2

64. Multiply each of the monomial :

Watch Video Solution

( − 3x2y),  (4xy2z),  ( − xy2z2)and ( z)
4

5

65. Express the following product as a monomial :

(x3) × (7x5) × ( x2) × ( − 6x4)
1

5

https://dl.doubtnut.com/l/_nsJcCU02GoGY
https://dl.doubtnut.com/l/_2H1AyfhdZuk9
https://dl.doubtnut.com/l/_4Th6xn7zdAwY
https://dl.doubtnut.com/l/_mkndUxqdkefN


Watch Video Solution

66. Multiply 
 by 
 and verify your result for 

Watch Video Solution

− x34

3
x2y

6

7

x = 2 and y = 1.

67. Find the product of 

Verify the result when 

Watch Video Solution

−5x2y, − xy2z, xyz2and − z.
2

3

8

15

1

4

x = 1, y = 2 and z = 3.

68. Find the value of 
 for

Watch Video Solution

(5a6)  ×  ( − 10ab2)  ×  ( − 2. 1a2b3)

 a = 1 and b = .
1

2

https://dl.doubtnut.com/l/_mkndUxqdkefN
https://dl.doubtnut.com/l/_6pHTc2gRpTjz
https://dl.doubtnut.com/l/_4cvcplfLgm1Q
https://dl.doubtnut.com/l/_4t7baiKaeNVJ


69. Find each of the following products:
 
(2) 

Watch Video Solution

5x2 × 4x3 −3a2 ×  4b4

70. Find each of the following products:
 
 (2)

Watch Video Solution

( − 5xy) × ( − 3x2yz)

xy  × x2yz21

2

2

3

71. Find each of the following products:


(ii) 

Watch Video Solution

( − xy2z) × ( x2yz2)
7

5

13

3
( − x3z) × ( − xz2y)

24

25

15

16

72. Find each of the following products:


(ii) ( − a2b2) ×  ( a3b2c2)
1

27

9

2
( − 7xy) × ( x2yz)

1

4

https://dl.doubtnut.com/l/_0TlXOEIvgESb
https://dl.doubtnut.com/l/_sVISCsUIIl9w
https://dl.doubtnut.com/l/_rYHf1fqYK6Hn
https://dl.doubtnut.com/l/_w9c8OPdp7wHV


Watch Video Solution

73. Find each of the products: 

Watch Video Solution

(7ab) ×  ( − 5ab2c) ×  (6abc2)

74. Find each of the products: 

Watch Video Solution

( − 5a) ×  ( − 10a2) × ( − 2a3)

75. Find each of the products: 

Watch Video Solution

( − 4x2) × ( − 6xy2) × ( − 3yz2)

https://dl.doubtnut.com/l/_w9c8OPdp7wHV
https://dl.doubtnut.com/l/_unHRFWsDhije
https://dl.doubtnut.com/l/_z76kQLKi0pIC
https://dl.doubtnut.com/l/_fAVWjNEfW3T9


76. Find each of the products:

Watch Video Solution

( − a4) × ( − a2b) ×  ( − b2)
2

7

3

4

14

5

77. Find each of the products:

Watch Video Solution

( ab2) ×  ( ac2b) × ( − a2c)
7

9

15

7

3

5

78. Find each of the products:

Watch Video Solution

( u2vw) ×  ( − 5uvw2) × ( v2wu)
4

3

1

3

https://dl.doubtnut.com/l/_IEmwkma4gHOv
https://dl.doubtnut.com/l/_PHrwgtP6cKHY
https://dl.doubtnut.com/l/_nf8TMcPR7JH7


79. Find each of the products: 

Watch Video Solution

(0. 5x) × ( xy2z4) ×  (24x2yz)
1

3

80. Find each of the products:

Watch Video Solution

( pq2) × ( − p2r) ×  (16p2q2r2)
4

3

1

4

81. Find each of the products: 

Watch Video Solution

(2. 2xy) ×  (0. 1x) ×  (0. 16)

82. Express each of the products as a monomials and
 verify the

result in each case for 


W t h Vid S l ti

x = 1: (3x) ×  (4x) × ( − 5x)

https://dl.doubtnut.com/l/_2GkjHdAOKzV6
https://dl.doubtnut.com/l/_pIIOOVZ0wgu3
https://dl.doubtnut.com/l/_oS1P0tnUVeFd
https://dl.doubtnut.com/l/_HrpyOwcgM1N6


Watch Video Solution

83. Express each of the products as a monomials and
 verify the

result in each case for 


Watch Video Solution

x = 1: (4x2) × ( − 3x) ×  ( x3)
4

5

84. Express each of the products as a monomials and
 verify the

result in each case for 


Watch Video Solution

x = 1: (5x4) ×  (x2)
3

×  (2x)2

85. Express each of the products as a monomials and
 verify the

result in each case for 


Watch Video Solution

x = 1: (x2)
3

×  (2x) ×  ( − 4x) ×  (5)

https://dl.doubtnut.com/l/_HrpyOwcgM1N6
https://dl.doubtnut.com/l/_Dnj6zCCTzbaw
https://dl.doubtnut.com/l/_IHObQ1z5jIEw
https://dl.doubtnut.com/l/_HyepXG2W0txZ
https://dl.doubtnut.com/l/_RmvTzZZMwi9k


86. Write down the product of 
 Verify the

product for 

Watch Video Solution

 8x2y6and − 20xy.

x = 2. 5, y = 1.

87. 

Watch Video Solution

Evaluate (3. 2x6y3) × (2. 1x2y2)when x = 1 and y = 0. 5

88. Find the value of 
 when

Watch Video Solution

(5x6) ×  ( − 1. 5x2y3) × ( − 12xy2)

 x = 1, y = 0. 5.

89. 

Watch Video Solution

Evaluate (2. 3a5b2) × (1. 2a2b2)when a = 1 and b = 0. 5.

https://dl.doubtnut.com/l/_RmvTzZZMwi9k
https://dl.doubtnut.com/l/_62svh6ZsP2dG
https://dl.doubtnut.com/l/_LzC0A1y13Lh9
https://dl.doubtnut.com/l/_pFKuSs0s9DTF


90. Evaluate 

Watch Video Solution

( − 8x2y6) × (  − 20xy)f or  x = 2. 5 and y = 1.

91. Express each of the products as a monomials and
 verify the

result for 


Watch Video Solution

x = 1, y = 2: (xy3) × (yx3) × (xy)

92. find the product of following

Watch Video Solution

( a2b) ×  ( − 15b2ac) ×  ( − c2)
2

5

1

2

https://dl.doubtnut.com/l/_pFKuSs0s9DTF
https://dl.doubtnut.com/l/_tUcidPG5RWOi
https://dl.doubtnut.com/l/_WLNcdolfPTqp
https://dl.doubtnut.com/l/_DKIEmmbAShPA


93. Express each of the products as a monomials

Watch Video Solution

( − a2b) × ( − b2c) ×  ( − c2a)
4

7

2

3

7

6

94. Express each of the products as a monomials

Watch Video Solution

( abc3) × ( − a3b2) × ( − 8b3c)
4

9

27

5

95. Evaluate each of the that when 

Watch Video Solution

x = 2, y = − 1.

(2xy) × ( ) × (x2) × (y2)
x2y

4

https://dl.doubtnut.com/l/_sk0lolvlbXUk
https://dl.doubtnut.com/l/_VL9OMV6AkOda
https://dl.doubtnut.com/l/_wnAdoo7MlJgI


96. Evaluate each of the that when 

Watch Video Solution

x = 2, y = − 1.

( x2y) × ( − xy2) × ( x2y2)
3

5

15

4

7

9

97. Multiply:
 
by 

Watch Video Solution

2x (3x + 5y)

98. Multiply:
 
by 

Watch Video Solution

(7xy + 5y) 3xy

99. Multiply:
 
by 

Watch Video Solution

−
3ab2

5
( − b)

2a

3

https://dl.doubtnut.com/l/_Ic6bWzd23tWl
https://dl.doubtnut.com/l/_EbphAjEOj948
https://dl.doubtnut.com/l/_qDzCloq5s784
https://dl.doubtnut.com/l/_PWjR4pzRZRa9


100. Find the product of 
 Verify the result for 

Watch Video Solution

s2t and s + t.
7

2

s = and t = 5.
1

2

101. Multiply: 

Watch Video Solution

(3x − y2x)by xy.
4

5

1

2

102. Find the following products: (i) 
 (ii) 

Watch Video Solution

100x(0. 01x4 − 0. 01x2)

121. 5ab (ac + )
b

10

https://dl.doubtnut.com/l/_PWjR4pzRZRa9
https://dl.doubtnut.com/l/_AEJkmPYPyPb2
https://dl.doubtnut.com/l/_qEVRWVTGYH6t
https://dl.doubtnut.com/l/_8Lsuqs2dY7lv


103. Determine each of the products and find the
value of each for




Watch Video Solution

x = 2,  y = 1. 15, z = 0. 01. xz(x2 + y2)

104. Determine each of the products and find the
value of each for




Watch Video Solution

x = 2,  y = 1. 15, z = 0. 01.

z2(x − y)

105. Determine each of the products and find the
value of each for




Watch Video Solution

x = 2,  y = 1. 15, z = 0. 01. (2z − 3x) × ( − 4y)

https://dl.doubtnut.com/l/_YrnhhNqVxzx4
https://dl.doubtnut.com/l/_n9XRvqM02i6D
https://dl.doubtnut.com/l/_SPapGsSDoiHl


106. Add : (i) 


(ii)

Watch Video Solution

5m (3 − m)and 6m2 − 13m

4y (3y2 + 5y − 7)and 2 (y3 − 4y2 + 5)

107. Subtract from

Watch Video Solution

3pq (p − q) 2pq (p + q)

108. Add: (i) and 


(ii) and 


Watch Video Solution

p (p − q), q(q − r)  r (r − p)

2x (z − x − y)  2y (z − y − x)

109. Subtract:
  from 

Watch Video Solution

3l (l − 4m + 5n) 4l(10n − 3m + 2l)

https://dl.doubtnut.com/l/_izvlrAauSl06
https://dl.doubtnut.com/l/_uLOQ1xi3lGcO
https://dl.doubtnut.com/l/_qFEc4gMIi2zP
https://dl.doubtnut.com/l/_LLKrhUBoGzUM


Watch Video Solution

110. Subtract:
 from 

Watch Video Solution

3a (a + b + c) − 2b(a − b + c)

4c( − a + b + c)

111. Simplify each of the expressions:

Watch Video Solution

15a2 − 6a(a − 2) + a(3 + 7a)

112. Simplify each of the following expressions:

Watch Video Solution

x2(1 − 3y2) + x(xy2 − 2x) − 3y(y − 4x2y)

https://dl.doubtnut.com/l/_LLKrhUBoGzUM
https://dl.doubtnut.com/l/_KM35h4GA1VJu
https://dl.doubtnut.com/l/_RGTHe7pv9d20
https://dl.doubtnut.com/l/_KSsXJZjoIM2V
https://dl.doubtnut.com/l/_L6c6KXHfO2wp


113. Simplify each of the following expressions:

Watch Video Solution

4st (s − t) − 6s2(t − t2) − 3t2(2s2 − s) + 2st(s − t)

114. Find the following products: (i) 
 (ii) 


(iii)

Watch Video Solution

2a3(3a + 5b)

−11a(3a + 2b) −5a(7a − 2b)

115. Find the following products: (i) 


(ii) 


(iii)

Watch Video Solution

(x3 + y3)
6x

5

xy(x3 − y3)

0. 1y(0. 1x5 + 0. 1y)

https://dl.doubtnut.com/l/_L6c6KXHfO2wp
https://dl.doubtnut.com/l/_DKFc4uFi3JWE
https://dl.doubtnut.com/l/_23wDhvVzXSMz


116. Find the following products: (i) 
(ii)


(iii)

Watch Video Solution

xyz ( x2yz − xyz2)
4

27

9

2

3

4

1. 5x(10x2y − 100xy2) 4. 1xy (1. 1x − y)

117. Find the following products: 

Watch Video Solution

x2y( xy2 + x)
7

5

3

5

2

5

a(a2 + b2 − 3c2)
4

3

118. Find the product 
and evaluate its value for x =3.

Watch Video Solution

24x2(1 − 2x)

119. Find the product 
 and find its value for  3y(xy + y2)

x = 4 and y = 5.

https://dl.doubtnut.com/l/_P0f4JQznVRPP
https://dl.doubtnut.com/l/_7hG9ysclruGL
https://dl.doubtnut.com/l/_8d4cGX2vVep7
https://dl.doubtnut.com/l/_WZBAUr03wJ9G


Watch Video Solution

120. Multiply 
by 
and verify the answer for 

and

Watch Video Solution

− x2y23

2
 (2x − y) x = 1

 y = 2.

121. Multiply the monomial by the binomial and find
 the value of

each for 
 (i) 
 (ii) 


(iii)

Watch Video Solution

x = − 1, y = 0. 25 and z = 0. 05: 15y2(2 − 3x)

−3x(y2 + z2) z2(x − y)

122. Simplify: 

Watch Video Solution

2x2(x3 − x) − 3x(x4 + 2x) − 2(x4 − 3x2)

https://dl.doubtnut.com/l/_WZBAUr03wJ9G
https://dl.doubtnut.com/l/_tMn3c9AW24GE
https://dl.doubtnut.com/l/_hWUqFeYfIYv3
https://dl.doubtnut.com/l/_nQR8fklnHBy4


123. Simplify: 

Watch Video Solution

x3y(x2 − 2x) + 2xy(x3 − x4)

124. Simplify: 

Watch Video Solution

3a2 + 2(a + 2) − 3a(2a + 1)

125. Simplify: 

Watch Video Solution

x(x + 4) + 3x(2x2 − 1) + 4x2 + 4

126. Simplify: 

Watch Video Solution

a(b − c) − b(c − a) − c(a − b)

https://dl.doubtnut.com/l/_mFttJSKX7N7V
https://dl.doubtnut.com/l/_yCCFE0rb345F
https://dl.doubtnut.com/l/_WVSBg5JCzAC0
https://dl.doubtnut.com/l/_QWf85D9bsXNf
https://dl.doubtnut.com/l/_WHEcZ01D40Wq


127. Simplify: 

Watch Video Solution

a(b − c) + b(c − a) + c(a − b)

128. Simplify:

Watch Video Solution

4ab(a − b) − 6a2(b − b2) − 3b2(2a2 − a) + 2ab(b − a)

129. Simplify: 

Watch Video Solution

x2(x2 + 1) − x3(x + 1) − x(x3 − x)

130. Simplify: 

Watch Video Solution

2a2 + 3a(1 − 2a3) + a(a + 1)

https://dl.doubtnut.com/l/_WHEcZ01D40Wq
https://dl.doubtnut.com/l/_pnZJ8A8zodqT
https://dl.doubtnut.com/l/_h4iONcZO12eN
https://dl.doubtnut.com/l/_ZduR6r6LBero
https://dl.doubtnut.com/l/_NdcOx5F00H6d


131. Simplify: 

Watch Video Solution

a2(2a − 1) + 3a + a3 − 8

132. Simplify: 

Watch Video Solution

x2(x2 − 1) + x2(x2 + x) − x(x3 − 1)
3

2

1

4

3

4

133. Simplify: 

Watch Video Solution

a2b(a − b2) + ab2(4ab − 2a2) − a3b(1 − 2b)

134. Simplify:

Watch Video Solution

a2b(a3 − a + 1) − ab(a4 − 2a2 + 2a) − b(a3 − a2 − 1)

https://dl.doubtnut.com/l/_NdcOx5F00H6d
https://dl.doubtnut.com/l/_urZzQTaMD0Kr
https://dl.doubtnut.com/l/_fAingsdick3f
https://dl.doubtnut.com/l/_xmmHiBQb6hYR


135. Multiply 

Watch Video Solution

(3x + 2y)and (5x + 3y)

136. Multiply 

Watch Video Solution

(2x + 3y)and (4x − 5y)

137. Multiply 

Watch Video Solution

( x − y)and (5x2 − 4y2).
1

5

1

4

138. Multiply 
by column method.

Watch Video Solution

(7a + 3b)and (2a + 3b)

https://dl.doubtnut.com/l/_57c8X5iU4BaA
https://dl.doubtnut.com/l/_e3Mm7nIhhA11
https://dl.doubtnut.com/l/_Rx3Lmnjf1w8y
https://dl.doubtnut.com/l/_1WvSRCJDJvBG
https://dl.doubtnut.com/l/_PWCvwigY1ZjS


139. Multiply 
by 
by column method.

Watch Video Solution

(7x − 3y) (4x − 5y)

140. Multiply 
by 


Watch Video Solution

(3x2 + y2)  (x2 + 2y2).

141. Multiply 


Watch Video Solution

(0. 5x − y) by  (0. 5x + y)

142. Multiply 


Watch Video Solution

(4x + )and (3x − )
3y

5

4y

5

https://dl.doubtnut.com/l/_PWCvwigY1ZjS
https://dl.doubtnut.com/l/_fD8T2Ue3RBeM
https://dl.doubtnut.com/l/_WnP2uv4nn9x6
https://dl.doubtnut.com/l/_lFYr3V8e8LVL


143. Multiply: 

Watch Video Solution

{2m + ( − n)}by { − 3m + ( − 5}

144. Find the product of 
and verify the

result for 

Watch Video Solution

(y + y2) and (7y − y2)
2

7

y = 3.

145. Find the value of the products:

Watch Video Solution

(x + 2y)(x − 2y)at x = 1,  y = 0

146. Find the value of the products:

(3m − 2n)(2m − 3n)at m = 1,  n = − 1

https://dl.doubtnut.com/l/_iDptMYO18QsW
https://dl.doubtnut.com/l/_P14tTGVya42N
https://dl.doubtnut.com/l/_VNlxAw6KanX3
https://dl.doubtnut.com/l/_okb4yHs5JPh4


Watch Video Solution

147. Find the value of the products:

Watch Video Solution

(4a2 + 3b)(4a2 + 3b)at a = 1,  b = 2.

148. Simplify: 

Watch Video Solution

(6x2 + 15y2)(6x2 − 15y2)
1

3

149. Simplify: 

Watch Video Solution

9x4(2x3 − 5x4) × 5x6(x4 − 3x2)

150. Simplify : (2x + 5)(3x − 2) + (x + 2)(2x − 3)

https://dl.doubtnut.com/l/_okb4yHs5JPh4
https://dl.doubtnut.com/l/_tBG8M4HsKjBs
https://dl.doubtnut.com/l/_zwP984bwBh2o
https://dl.doubtnut.com/l/_bmhbfxXUkpWB
https://dl.doubtnut.com/l/_65CC9F0u5yK9


Watch Video Solution

151. Simplify: 

Watch Video Solution

(3x + 2)(2x + 3) − (4x − 3)(2x − 1)

152. Simplify: 

Watch Video Solution

(2x + 3y)(3x + 4y) − (7x + 3y)(x + 2y)

153. Multiply: 

Watch Video Solution

(2x2 − 3x + 5)by(5x + 2).

154. Multiply: 

W t h Vid S l ti

(2x2 − 4x + 5) by (x2 + 3x − 7)

https://dl.doubtnut.com/l/_65CC9F0u5yK9
https://dl.doubtnut.com/l/_OIp3nOfx4E1v
https://dl.doubtnut.com/l/_dTCUU8lnI9Nv
https://dl.doubtnut.com/l/_rzepT1Ss8ktJ
https://dl.doubtnut.com/l/_741ga81Gyd0p


Watch Video Solution

155. Simplify: 

Watch Video Solution

(3x − 2)(x − 1)(3x + 5)

156. Simplify: 

Watch Video Solution

(5 − x)(3 − 2x)(4 − 3x)

157. Multiply: 
(ii) 

Watch Video Solution

(5x + 3)by(7x + 2) (2x + 8)by (x − 3)

158. Multiply: 
(ii) 

Watch Video Solution

(7x + y)by(x + 5y) (a − 1)by (0. 1a2 + 3)

https://dl.doubtnut.com/l/_741ga81Gyd0p
https://dl.doubtnut.com/l/_B35ocpbkk2Xh
https://dl.doubtnut.com/l/_Dglc56pLZKeW
https://dl.doubtnut.com/l/_fq5ZTlpYrcpx
https://dl.doubtnut.com/l/_sbJzj4WUvPCw


159. Multiply: 

Watch Video Solution

(3x2 + y2)by (2x2 + 3y2)

( x + y)by ( x + 4y)
3

5

1

2

5

6

160. Multiply: 


Watch Video Solution

(x6 − y6)by (x2 + y2) (x2 + y2)by (3a + 2b)

161. Multiply: 

Watch Video Solution

( − 3d + ( − 7f)]by (5d + f)

162. Multiply: 

Watch Video Solution

(2x2y2 − 5xy2)by (x2 − y2)

https://dl.doubtnut.com/l/_sbJzj4WUvPCw
https://dl.doubtnut.com/l/_NKZOrYvDrUBT
https://dl.doubtnut.com/l/_xmomBuZoUrR9
https://dl.doubtnut.com/l/_Br1I9QpprMWL
https://dl.doubtnut.com/l/_mxQWArnn0LJE


163. Multiply: 

Watch Video Solution

( + )by ( − )
a

7

a2

9

b

2

b2

3

(3x2y − 5xy2)by ( x2 + y2)
1

5

1

3

164. Multiply: 


Watch Video Solution

(2x2 − 1)by (4x3 + 5x2) (2xy + 3y2)(3y2 − 2)

165. Find the following products and verify the
 result for x




Watch Video Solution

= − 1, y = − 2: (3x − 5y)(x + y)

https://dl.doubtnut.com/l/_mxQWArnn0LJE
https://dl.doubtnut.com/l/_7U2E3Wfu7MCs
https://dl.doubtnut.com/l/_BwOHCDvQZ9X8
https://dl.doubtnut.com/l/_pFo9TgGsYmhL


166. Simplify:


Watch Video Solution

x2(x + 2y)(x − 3y)

167. Simplify:


Watch Video Solution

(x2 − 2y2)(x + 4y)x2y2

168. Simplify:


Watch Video Solution

a2b2(a + 2b)(3a + b)

169. Simplify:


Watch Video Solution

x2(x − y)y2(x + 2y)

https://dl.doubtnut.com/l/_JWiuPnQ9zsrO
https://dl.doubtnut.com/l/_rHtd88qltUEr
https://dl.doubtnut.com/l/_vQNPvADVTg1q
https://dl.doubtnut.com/l/_yG8spAUjAmen
https://dl.doubtnut.com/l/_yKy9WNcaHST5


170. Simplify:


Watch Video Solution

(x3 − 3x2 + 5x − 7)(2x − 3)

171. Simplify:


Watch Video Solution

(5x + 3)(x − 1)(3x − 2)

172. Simplify:


Watch Video Solution

(5 − x)(6 − 5x)(2 − x)

173. Simplify:


Watch Video Solution

(2x2 + 3x − 5)(3x2 − 5x + 4)

https://dl.doubtnut.com/l/_yKy9WNcaHST5
https://dl.doubtnut.com/l/_NoUtxxfdYCt4
https://dl.doubtnut.com/l/_LUxjknfBVDgG
https://dl.doubtnut.com/l/_gsdX7lGeUE6I


174. Simplify:


Watch Video Solution

(3x − 2)(2x − 3) +  (5x − 3)(x + 1)

175. Simplify:


Watch Video Solution

(5x − 3)(x + 2) − (2x + 5)(4x − 3)

176. Simplify:


Watch Video Solution

(3x + 2y)(4x + 3y) −  (2x − y)(7x − 3y)

177. Simplify:


Watch Video Solution

(x2 − 3x + 2)(5x − 2) −  (3x2 + 4x − 5) (2x − 1)

https://dl.doubtnut.com/l/_92d4swiQtcUb
https://dl.doubtnut.com/l/_hlZjxzslp2F0
https://dl.doubtnut.com/l/_4HCf70fyb1oz
https://dl.doubtnut.com/l/_ZKT8qQo3QIZM
https://dl.doubtnut.com/l/_kmwLsxpygIVB


178. Simplify:

Watch Video Solution

(x3 − 2x2 + 3x − 4)(x − 1) −  (2x − 3)(x2 − x + 1)

179. Evaluate: 
(ii) 


Watch Video Solution

(2x + 3y)2 (2x − 3y)2 (2x + 3y)2x − 3y).

180. Write down the squares of each of the following
 binomials:


(ii) 
(iii) 

Watch Video Solution

(x + )
a

2
(5b − )

1

2
(y + )

y2

2

181. Find the product of the binomials:


Watch Video Solution

( x2 + 3 )( x2 + 3)
4

3

4

3

https://dl.doubtnut.com/l/_kmwLsxpygIVB
https://dl.doubtnut.com/l/_VVSSeaGBDr9M
https://dl.doubtnut.com/l/_n4kOXXhZHQrX
https://dl.doubtnut.com/l/_nQe8Y8o7UECp


182. Find the product of the following binomials:

Watch Video Solution

( x2 + 5y2) ( x2 + 5y2)
2

3

2

3

183. Find the product of the binomials:


Watch Video Solution

(6x2 − 7y2)(6x2 − 7y2)

184. Find the product of the binomials:

Watch Video Solution

( x − y) ( x − y)
1

2

1

5

1

2

1

5

https://dl.doubtnut.com/l/_nQe8Y8o7UECp
https://dl.doubtnut.com/l/_KW2eUcUSQcb0
https://dl.doubtnut.com/l/_EwSzRH3SRMDg
https://dl.doubtnut.com/l/_GDMOx6jToVwN


185. Find the product of the following binomials: (i)


(ii) 

Watch Video Solution

( x + y)( x − y)
3

4

5

6

3

4

5

6
(2a + )(2a − )

3

b

3

b

186. Find the product of the following binomials:




Watch Video Solution

(a2 + b2)( − a2 + b2) ( − a + c)( − a − c)

187. If 
find the values of 

Watch Video Solution

x + = 4,
1

x
x2 +

1

x2

188. If  then prove that the value of 

Watch Video Solution

x + = 4
1

x
x4 + = 194

1

x4

https://dl.doubtnut.com/l/_iwgmVoDshyf2
https://dl.doubtnut.com/l/_pCGnkRDn7jBA
https://dl.doubtnut.com/l/_YqmuW1JtyU3Q
https://dl.doubtnut.com/l/_8yQEWenoLazC


Watch Video Solution

189. If 
find the value of 

Watch Video Solution

x − = 9,
1

x
x2 +

1

x2

190. If 
find 

Watch Video Solution

x − = 9,
1

x
x + .

1

x

191. If 
find the values of each of the:


Watch Video Solution

x2 + = 27,
1

x2
x +

1

x

192. If 
find the values of each of the:


Watch Video Solution

x2 + = 27,
1

x2
x −

1

x

https://dl.doubtnut.com/l/_8yQEWenoLazC
https://dl.doubtnut.com/l/_AsVX0TkPNAJY
https://dl.doubtnut.com/l/_vwtdNybvbIUY
https://dl.doubtnut.com/l/_JSB2fKNSu3Za
https://dl.doubtnut.com/l/_tv4CANZfBDKb


193. If 
find the value of 

Watch Video Solution

x + y = 12 and xy = 14, x2 + y2.

194. If 
find the value of 

Watch Video Solution

3x + 2y = 12 and xy = 6, 9x2 + 4y2.

195. If 
find the value of 

Watch Video Solution

4x2 + y2 = 40 and xy = 6, 2x + y.

196. Find the continued product:


Watch Video Solution

(x + 2)(x − 2)(x2 + 4)

https://dl.doubtnut.com/l/_tv4CANZfBDKb
https://dl.doubtnut.com/l/_dEeDBnoXyVje
https://dl.doubtnut.com/l/_mCZf4UgRRcvd
https://dl.doubtnut.com/l/_FkERignnyH0X
https://dl.doubtnut.com/l/_GMdYxSQN21mW


197. Find the continued product:


Watch Video Solution

(2x + 3y)(2x − 3y)(4x2 + 9y2)

198. Find the continued product:


Watch Video Solution

(x − 1)(x + 1)(x2 + 1)(x4 + 1)

199. Find the continued product:

Watch Video Solution

(x − )(x + )(x2 + )(x4 + )
1

x

1

x

1

x2

1

x4

200. Find the continued product:


Watch Video Solution

(x − − 1)(x + + 1)
y

5

y

5

https://dl.doubtnut.com/l/_R0ayEd2HETjr
https://dl.doubtnut.com/l/_wZ1E1YHtZmRO
https://dl.doubtnut.com/l/_dNtXRzO6POrr
https://dl.doubtnut.com/l/_Q9FBQp2PJqGT


201. Simplify the products: 

Watch Video Solution

( x2 + x + 1)(x2 − x + 1)

202. Simplify the products: 

Watch Video Solution

(x2 + 2x + 2)(x2 − 2x + 2)

203. Prove that:

Watch Video Solution

2a2 + 2b2 + 2c2 − 2ab − 2bc − 2ca = (a − b)2 + (b − c)2 + (c − a)2

204. If , prove that 

Watch Video Solution

a2 + b2 + c2 − ab − bc − ca = 0 a = b = c

https://dl.doubtnut.com/l/_VzWrb2TY2Eu3
https://dl.doubtnut.com/l/_bfFtKJBLa9LR
https://dl.doubtnut.com/l/_GLbpwaU7paKS
https://dl.doubtnut.com/l/_4pbmT9quBmiI


205. Using the formulae for squaring a binomial,
 evaluate the

following :
 
(ii) 
(iii) 

Watch Video Solution

(101)2 (99)2 (93)2

206. Simplify the following by using 


(i) 


(ii) 


(iii) 


(iv) 

Watch Video Solution

(a + b)(a − b) = a2 − b2

68 × 72

101 × 99

67 × 73

1282 − 772

207. Find the value of 
, if 

Watch Video Solution

x 6x = 232 − 172

https://dl.doubtnut.com/l/_1aIyiML6EKmx
https://dl.doubtnut.com/l/_kMxnhltPmVKG
https://dl.doubtnut.com/l/_qo4nkJ9Lf0z2
https://dl.doubtnut.com/l/_7eZ8i3qcnBYy


208. Find the value of 
, if 

Watch Video Solution

x 4x = 982 − 882

209. Find the value of 
, if 

Watch Video Solution

x 25x = 5362 − 1362

210. What must be added to 
 to make it a whole

square?

Watch Video Solution

9x2 − 24x + 10

211. Write the following squares of binomials as trinomials: 

(i) 


(ii) 


(x + 2)2

(8a + 3b)2

https://dl.doubtnut.com/l/_7eZ8i3qcnBYy
https://dl.doubtnut.com/l/_bWlak4jay6Gy
https://dl.doubtnut.com/l/_THEEEaxXJCuB
https://dl.doubtnut.com/l/_tM9iJnPlT6pD


(iii) 


(iv) 

Watch Video Solution

(2m + 1)2

(9a + )
2

1

6

212. Write the following squares of binomials as trinomials: 

(i) 


(ii) 


(iii) 


(iv) 

Watch Video Solution

(x + )
2

x2

2

( − )
x

4

y

3

(3x − )
21

3x

( − )
2

x

y

y

x

213. Write the following squares of binomials as trinomials:

(i) 


(ii) 


( − )
23a

2

5b

4

(a2b − bc2)
2

https://dl.doubtnut.com/l/_tM9iJnPlT6pD
https://dl.doubtnut.com/l/_Df0sMjY0vbXT
https://dl.doubtnut.com/l/_SwQ1kF02EFt5


(iii) 


(iv) 

Watch Video Solution

( + )
2

2a

3b

2b

3a

(x2 − ay)
2

214. Find the product of the following binomials; 

(i) 


(ii) 

Watch Video Solution

(2x + y)(2x + y)

(a + 2b)(a − 2b)

215. Find the product of the following binomials; 

(i) 


(ii) 

Watch Video Solution

(a2 + bc)(a2 − bc)

( − )( + )
4x

5

3y

4

4x

5

3y

4

https://dl.doubtnut.com/l/_SwQ1kF02EFt5
https://dl.doubtnut.com/l/_JCCLp9KWP1ue
https://dl.doubtnut.com/l/_M2sOmqTh1cwK
https://dl.doubtnut.com/l/_cUWnKKl8pVKO


216. Find the product of the following binomials;


(ii) 



Given:













(ii) 











Watch Video Solution

(2x + )(2x − )
3

y

3

y
(2a3 + b3)(2a3 − b3)

⇒ (2x + )(2x − )
3

y

3

y

⇒ (2x)2 + ( )
23

y

⇒ 4x2 +
9

y2

⇒ 4x2 +
9

y2

(2a3 + b3)(2a3 − b3)

⇒ (2a3)
2

+ (b3)
2
)

⇒ (4a6) + (b6)

217. Find the product of the following binomials; 

(i) 
(x4 + )(x4 − )
2

x2

2

x2

https://dl.doubtnut.com/l/_cUWnKKl8pVKO
https://dl.doubtnut.com/l/_p5gfz2gNjr9L


(ii) 





Watch Video Solution

(x3 + ) (x3 − )
1

x3

1

x3

(i)(x4 + )(x4 − )
2

x2

2

x2

218. Using the formula for squaring a binomial ,
 evaluate the

following:
 
(ii) 
(iii) 

Watch Video Solution

(102)2 (99)2 (1001)2

219. Using the formula for squaring a binomial ,
 evaluate the

following:

(i) 


(ii) 


Watch Video Solution

(999)2

(703)2

https://dl.doubtnut.com/l/_p5gfz2gNjr9L
https://dl.doubtnut.com/l/_sLI83VyUbQfj
https://dl.doubtnut.com/l/_TwTDwDt3iRMS
https://dl.doubtnut.com/l/_1eK6497AIeei


220. Simplify the following using the formula:




(i) 


(ii

Watch Video Solution

(a − b)(a + b) = a2 − b2 :

(82)2 − (18)2

(467)2 − (33)2

221. Simplify the following using the formula:




(i) 


(ii) 

Watch Video Solution

(a − b)(a + b) = a2 − b2 :

(79)2 − (69)2

197 × 203

222. Simplify the following using the formula:


(a − b)(a + b) = a2 − b2 :

https://dl.doubtnut.com/l/_1eK6497AIeei
https://dl.doubtnut.com/l/_0aHvaXjyfz5m
https://dl.doubtnut.com/l/_WzLWh1Um1hij


(i) 


(ii) 



Watch Video Solution

113 × 87

95 × 105

223. Simplify the following using the formula:




(i) 


(ii) 


Watch Video Solution

(a − b)(a + b) = a2 − b2 :

1. 8 × 2.2

9. 8 × 10.2

224. Simplify the following using the identities: 

(i) 


(ii) 

Watch Video Solution

582 − 422

16

178  ×  178  − 22  ×  22

https://dl.doubtnut.com/l/_WzLWh1Um1hij
https://dl.doubtnut.com/l/_bdHw4PkhIR85
https://dl.doubtnut.com/l/_aPa4nfu96Ze1


225. Simplify the following using the identities: 

(i) 


(ii) 

Watch Video Solution

198 × 198 − 102 × 102

96

1. 73 × 1. 73 − 0. 27 × 0. 27

226. Find the value of x, if:

(i) 


(ii) 


(iii) 

Watch Video Solution

4x = (52)2 − (48)2

14x = (47)2 − (33)2

5x = (50)2 − (40)2

227. If 
find the value of 
​

Watch Video Solution

x − = 3,
1

x
x2 + .

1

x2

https://dl.doubtnut.com/l/_9G1Hv6gjUcBA
https://dl.doubtnut.com/l/_Y8GFKhhQ9m3a
https://dl.doubtnut.com/l/_fwzvYtOLf91j
https://dl.doubtnut.com/l/_Ggid5V5lSFwP


228. If 
find the values of 

Watch Video Solution

x − = 3,
1

x
x2 + and x4 + .

1

x2

1

x4

229. If 
find the values of  and 

Watch Video Solution

x2 + = 18,
1

x2
x +

1

x
x − .

1

x

230. If  and 
find the values of 

Watch Video Solution

x + y = 4 xy = 2, x2 + y2

231. If 
find the value of 

Watch Video Solution

x − y = 7 and xy = 9, x2 + y2

https://dl.doubtnut.com/l/_Ggid5V5lSFwP
https://dl.doubtnut.com/l/_nGM4xgQ1MnUm
https://dl.doubtnut.com/l/_gBSNNZZ3skzB
https://dl.doubtnut.com/l/_xdxE1kw4PwUW
https://dl.doubtnut.com/l/_bEHmmWbwpw9e


232. If  and 
find the value of 

Watch Video Solution

3x + 5y = 11 xy = 2, 9x2 + 25y2

233. Find the values of the following expressions: 

(i)  , when 


(ii)  , when  and 

Watch Video Solution

16x2 + 24 + 9 x =
7

4

64x2 + 81y2 + 144xy x = 11 y =
4

3

234. If 
find the value of 

Watch Video Solution

x + = 9.
1

x
x4 + .

1

x4

235. If 
find the value of 

Watch Video Solution

x + = 12,
1

x
x − .

1

x

https://dl.doubtnut.com/l/_bEHmmWbwpw9e
https://dl.doubtnut.com/l/_tV6mjE8JnxoM
https://dl.doubtnut.com/l/_tQPPUHXKfFDz
https://dl.doubtnut.com/l/_rZANZZZmiZvw


236. If  a n d 
find the value of  [Hint

use 


Watch Video Solution

2x + 3y = 14 2x − 3y = 2, xy

(2x + 3y)2 − (2x − 3y)2 = 24xy

237. If  a n d 
find the value of


(i) 


(ii) 

Watch Video Solution

x2 + y2 = 29 xy = 2,

x + y

x − y

238. What must be added to each of the following
 expressions to

make it a whole squares? 




(ii) 

W h Vid S l i

4x2 − 12x + 7

4x2 − 20x + 20

https://dl.doubtnut.com/l/_rZANZZZmiZvw
https://dl.doubtnut.com/l/_scpiabqeMwZi
https://dl.doubtnut.com/l/_pxPgQ07r2lI6
https://dl.doubtnut.com/l/_f3nwF3ehFHjO


Watch Video Solution

239. Simplify:

(i) 


(ii) 


(iii) 

Watch Video Solution

(x − y)(x + y)x2 + y2)(x4 + y4)

(2x − 1)(2x + 1)(4x2 + 1)(16x4 + 1)

(7m − 8n)2 + (7m + 8n)2

240. Simplify: 

Watch Video Solution

(m2 − n2m)
2

+ 2m3n2

241. Show that : 

(i) 
(3x + 7)2 − 84x = (3x − 7)2

https://dl.doubtnut.com/l/_f3nwF3ehFHjO
https://dl.doubtnut.com/l/_9DMamuJP2NHq
https://dl.doubtnut.com/l/_guioafO0DvFt
https://dl.doubtnut.com/l/_f2EvxgBPfRQI


(ii) 


(iii) 

Watch Video Solution

(9a − 5b)2 + 180ab = (9a + 5b)2

( − )
2

+ 2mn = +
4m

3

3n

4

16m2

9

9n2

16

242. Show that :

(i) 


(ii) 


Watch Video Solution

(4pq + 3q)
2

− (4qp − 3q)
2

= 48pq2

(a − b)(a + b) + (b − c)(b + c) + (c − a)(c + a) = 0

243. Find the following products: 

(i) 


(ii) 


(iii) 


(iv) 


(x + 2)(x + 3)

(x + 7)(x − 2)

y − 4)(y − 3)

(y − 7)(y + 3)

https://dl.doubtnut.com/l/_f2EvxgBPfRQI
https://dl.doubtnut.com/l/_jMTgTU4DA4He
https://dl.doubtnut.com/l/_Tq39Gp5dZk62


(vi) 


(vii) 

Watch Video Solution

(2x − 3)(2x + 5)

(3x + 4)(3x − 5)

244. Evaluate the following :

(i) 


(ii) 


(iii) 


Watch Video Solution

107 × 103

56 × 48

95 × 97

245. Find the following products:

(i) 


(ii) 


(iii) 


(iv) 

(x + 4)(x + 7)

(x − 11)(x + 4)

(x + 7)(x − 5)

x − 3)(x − 2)

https://dl.doubtnut.com/l/_Tq39Gp5dZk62
https://dl.doubtnut.com/l/_8hX5UFxnlTpa
https://dl.doubtnut.com/l/_ljuBDdzsBgl0


Watch Video Solution

246. Find the following products: (i) 
 (ii) 


 (iii) 
 (iv) 




Watch Video Solution

(y2 − 4)(y2 − 3)

(x + )(x + )
4

3

3

4
(3x + 5)(3x + 11)

(2x2 − 3)(2x2 + 5)

247. Find the following products: 

(i) 


(ii) 






(iv) 



Watch Video Solution

z2 + 2)(z2 − 3)

(3x − 4y)(2x − 4y)

(3x2 − 4xy)(3x2 − 3xy)

(x + )(x + 5)
1

5

https://dl.doubtnut.com/l/_ljuBDdzsBgl0
https://dl.doubtnut.com/l/_6oR8ACOHywzS
https://dl.doubtnut.com/l/_0bOPw34n4vLx


248. Find the following products: (i) 
 (ii) 


(iii) 
(iv) 


Watch Video Solution

(z + )(z + )
3

4

4

3

(x2 + 4)(x2 + 9) (y2 + 12)(y2 + 6) (p2 + 16)(p2 − )
1

4

249. Evaluate the following :

(i) 


(ii) 


(iii) 


(iv) 


Given:

Watch Video Solution

102 × 106

109 × 107

35 × 37

53 × 55

250. Evaluate the following :

(i) 
103 × 96

https://dl.doubtnut.com/l/_AwJQDmHBPfTh
https://dl.doubtnut.com/l/_clzWpZx6BxwA
https://dl.doubtnut.com/l/_WtlJz6CvmrpN


(ii) 


(iii) 


Watch Video Solution

34 × 36

994 × 1006

https://dl.doubtnut.com/l/_WtlJz6CvmrpN

